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Year 6 Reasoning Quiz 1

Reading and Writing Numbers up to 10 000 000
10, 100 and 1000 More or Less Than a Number

1. Write the number that is 100 less than one million.

e 8 & & H 8 8 8 8 F e e DY eSS e ® Ol D e e PO e R e S e e e e B

i
2. Write the number in words that is 30 less than 300 000.
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3. 678 is 200 less than what number?
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4. Write in words the number that is half of one million and ten.
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Order and Compare Numbers

5. Put these cars in order of price, starting with the lowest price. One has been
done for you.

£31,750 £30,570 £37,150 £31,900
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Year 6 Reasoning Quiz 1

Rounding

11. Round 263 874

a) to the nearest 10 000

b) to the nearest 1 000

c) to the nearest 100
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Negative Numbers

12. What number is 12 more than -7?
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13. Here is part of a number line.

Write the missing numbers in the boxes.

-8 -8

-5

a@www&m%m%@wwmw:@@&wmwm&ww&mmw&@wwwmw&waww&

14. The temperate outside is -4°C and inside is 15°C. What is the difference in
temperature between the outside and inside?
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#xEND OF TESTx«
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Year 6 Reasoning Quiz 2

4. Write the three missing digits to make this
subtraction correct. -7 1

BE & R F BRSSP SRR F DS DTSR e PSS S PSS e 8 @

5. Write the two missing digits to make this long
multiplication correct. 5
x 4
2 2 8
1 1 4 O
1 3 6 8

L I D - N U B I RN DN N BN RN BN B D T N B EE DN DEE IEE NN DN N 3 B IEE T DR RN BRSO

6. (Eor.nple.zte this c.liv%sion calculation by 2 6 5
filling in the missing numbers.

1 5 5

3 4

1 1

1 0 2

5
5
0O O
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Year 6 Reasoning Quiz 2

9. Julia chooses a number between 50 and 100.
She halves the number and adds 15.
She divides this result by 3. Her answer is 19.
What was the number she started with?

Show your method.

RS 8 & W @ @ @ @ 8 @ 8@ @ @ 8 & W o9 o8 @ @ @ 8 D8 B8 e s s e 8 e e

10. Mr Lucas is making some jam to sell at a school fair.

Raspberries cost £7.25 per kg
Sugar costs 85p per kg
6 glass jars cost £1.80

He used 15kg of raspberries and 8kg of sugar to make 30 jars of jam.

Calculate the total cost to make 30 jars of jam.

Show your method.

e ® @ & & B8 & & & & B D B oW oW @ B & & o8 w ow e ow

+xEND OF TESTux
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Year 6 Reasoning Quiz 3

&
&
#
i
@

4. Order the following fractions from smallest to largest:
Y N N )

2 7 17 5

| — - — | 1=

3 4 10 8
\ J \_ / \. J . J
T\ N ™ ™\
\ J \. J \_ J \. J
smallest largest

S 9 @ & & @ o8 8 & & 8 @ & W & B 8% e S e D e R e o8 oo oo e e

Fraction Problems

5. Shade é of each shape.

&R & & ® & @ ® $® & & & & & & 9 o @ & @ P » & ¢ P @ ¢ ¢ ¢ e e W @ e S oW oW e @

6. At the beginning of the day, Hasim counted his money. He gave his brother 1/3
of his money. He spent £12 on a present for his sister. He then counted what he
had left, and it was half what he had at the beginning of the day. How much
did he give his brother? Show your method.
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Year 6 Reasoning Quiz 3

10. Round the following decimal numbers:

Rounded to nearest

1.5 whole number
2.928 tenths
0.185 hundredth

B8 ® @& ® 8 & & ¥ F H P & $ & 8 /g TP e P e e e oS e e8RS e s e

Ratio

11. 24 identical books are on a shelf

A

Another four of the same book is added to the shelf.
What is the width of the books now?

Show your method.

&H ® ® & £ 2 ® & & £ & 8 ® & & oW eSS @ B e e e s L8 e e 8 8 e e

156cm
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Name: Date:

Year 6 Reasoning Quiz 4

Algebra

1. n=24
What is 3n - 157

LR N 2 B I N I R K S N RN BN BEE B NN R B I R I N 2 B B I N B B T T T I R )

2. 28-3t=10
Work out the value of t. t =

S 8 8 @ & ® % @ 8 8 @& P & F D e D o8 E RS S e SR oS D S 8 8 8

3. Each shape represents a number.

Total 45

/\ /\ Total 42

Work out the value of each shape.

L U I B B e I D B D B e B R B 2 N I R I N T R O N I R R B

4. A plumber charges the following for any work done.

call-out charge = £15
hourly rate = £21

Write a formula to explain what the plumber will charge for any number of
hours work.
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Year 6 Reasoning Quiz 4

3 apples and 2 bananas cost £1.13.

Money
8. 5 apples cost £1.45. @ @

00

What is the cost of one banana? Show your method.

@@ 8 & @ & & 8 @& @ & ® ¢ @& @ @ & 8 @ W » e P PN D e e oY e ®

9. A box of 6 pencils costs £1.20.

A pack of 4 rubbers costs 48p.

How much more does one pencil cost than one rubber? Show your method.

FQ & & D B0 @8 w8 ® e D R e e S8 Y S Y88 P Y e o8 Y YR 8 Y B W
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Year 6 Reasoning Quiz 4

is rectilinear shape.

Calculate the perimeter of th

12.

19m

ter

perime
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Measurement

A pack of 8 apples weighs 1kg. What is the mean mass of each apple?

13
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Date:

Year 6 Reasoning Quiz 5

Symmetry

1. Draw the reflection of this shape in the mirror line.

Fe & § & % 8§ & & ® 8@ & @ & & & s 9 @& @

2. Draw an isosceles triangle on the grid and mark any lines of symmetry.

® & 8 @
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Year 6 Reasoning Quiz 5

Coordinates

4. Shape A is translated to Shape B. Shape B is then translated in the same way
to Shape C. Complete the coordinates of Shapes B and C.

y
A

Shape A coordinates
a) (7,8)

b) (8,10)

c) (9,8)

Shape B coordinates

a)

b)

c) (3,1)

$ & & 8 ® ¢ @ P B B oS D e e R S e 8 9

P X

Shape C coordinates
a)
b)

c)
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Year 6 Reasoning Quiz 5

Pie Charts
8. 100 girls and 50 boys were asked which kind of chocolate they like best.

These two pie charts show the results.

white

chocolate chocolate

100 girls 50 boys

Explain why the number of girls who preferred plain chocolate is the same as
the number of boys who preferred milk chocolate.

@ & & ¢ & @ & @ 8§ @ @ & 8B 9§ & 8 & 8 & W @ ® & @ 9 e oYY e e W e e’ e 8
9. Each class raises some money for charity.

This bar chart shows how much each class raised

0 £20 £40 £60 £80 £100 £120

a) Which classes raised more than £25?

b) Which classes raised more; Year 3 and &
combined or Year 5 and 6 combined?

LR N I 2 N I N T T I O I D DR DA T N B B I TR TN DN DT DT O N N TR DT IR
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